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S oA AD & AABC 9] F4lojth, A
AP =PQ = QD ©]1 AACD = 24cm? ¥
o, ABPQ ] HWol& F3toiet

o2
)
Q

@ 6cm? @ 7cm? 3®)8cm?
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11. o 3804 & A4ZHE V- ABC &t V' - A’'B'C' & F2 Tt
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Zol%t LA OB ©] 27)5 HHEA FolE 22
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(BE 5%

.. AABC @ AEBD (SASH-)
AC:ED=3:1°E26:x=3:1
3x=06

L x=2
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AD:DB=AE:ECOEE28:4=6:x
x=3
E:E:ﬁ:B_CO]EE8:12=y:15
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~&B

AB//DF ©|22/BAE = (CFE (- 912})
(AEB = /(FEC (. ¥E&X]7})

.. AABEO AFCE (AA &)

BE: CE=AB: CF |2 &
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® AD : AB=DE : BC @—E:%5
®)BC : DE = 3
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>
> HEh. 99cm?
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AADE,AABC & §3H=16:28=4:7
Holo Hl&=42:72 =16:49 o|E &
AADE : oDBCE = 16 : (49 — 16) = 16 : 33
48 : oDBCE = 16 : 33

. ODBCE = 99 (cm?)
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@ AC:DE=2:1
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® BC ¢} DF = W5t Ho] ofHER Fojxl I-A I
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whata] W o] H]= g 12 o] B & Yo]o] H]= 2. 3 o]t}
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webA AADC = ga oltt.
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20x = 350
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B D C
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> Heh: 12
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AG =2GD, AG =38
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27. oF 1™ Z-2 JATR ABCD oA EG 9 HF 7F A= A|7to =
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E
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vV Vv
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ADNC 2} ACMB A
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.. /.CDN = /BCM---©
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A wf, AD o] Zo]E aloizt
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(B E 3%, 274 /BAC = (BCD °|B2&2
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— 6Xx8
= =12
BA 4
— 4X%X6
BD=——=3
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